
80 Reversing rolling mill
Professional \ Sweepers \ Walk behind \ Electric motor \ KSM 750 BAT \ Spare parts list KSM 750 BAT \ Reversing rolling mill

Valid on 13.08.2021 Page 1 / 2



80 Reversing rolling mill
Professional \ Sweepers \ Walk behind \ Electric motor \ KSM 750 BAT \ Spare parts list KSM 750 BAT \ Reversing rolling mill

Valid on 13.08.2021 Page 2 / 2

POS Article no. Description Quantity Unit
1 6.905-587.0 Reversing rolling mill middle 1 PC
1 6.905-868.0 Reversing rolling mill hard -550 BREIT 1 PC
1 6.905-870.0 Reversing rolling mill soft nature 550mm 1 PC
2 7.306-041.0 Cylinder head screw M8x20 -8.8-A2E ISO 4 PC
3 5.047-121.0 Sheet metal component retainer reversing 4 PC
4 4.038-435.0 Lever right 1 PC
5 4.038-448.0 Lever left 1 PC
6 7.303-204.0 Saucer-head screw M8x20 -4.8-ZNBHL DIN 603 2 PC
7 7.312-277.0 Washer 8-200HV-A2E ISO7093-1 4 PC
8 7.311-427.0 Hexagon nut M8 -04-A2E DIN 985 4 PC
9 5.046-859.0 Lever left KSM 750 1 PC
10 6.343-175.0 Quick-fastener 1 PC
11 7.303-068.0 Screw M8x20 -St-R3R (In6Rd) 2 PC
12 6.312-069.0 Washer 1 PC
13 7.303-193.0 Saucer-head screw M 8x16-4.6-A0P DIN 60 2 PC
15 6.348-283.0 Round belt D10 1 PC
18 6.343-202.0 Quick-fastener 1 PC
19 5.047-582.0 Sheet metal component adjustment reversi 1 PC
20 5.100-178.0 Shaft lever 1 PC

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

